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A. n the blanks with the words given. There is one extra word .

destination , unemployment ,excellent, irrelevant, extinction , rattle , nutrients , access , annoyed

\. Your body stores some of the........ in the food as fat.

Y. Your question seemsto be .......... to the subject.

v. Edison was often .......... by the other students, so he ran away. ‘

f. Sometimes it is really difficult to ............. information in the database.

d. The s of groups of animals might be a possible effect of global warming.

. Very young children work for many reasons, including adult «...ccceeveees
y. Earthquake may shake houses and e windows.

A. The north of Iran is a popular holiday........ce....

B. Match the.definitions in column A with the words in column B . There is one extra word In column B. v
A ' : B
4. give most of your time, energy, ...to s.b. / s.th. " a. suffering
j.. important part or quality of s.th. ' b. devote
). aperson who islearning a job c. issue
\v. experience of pain and unpleasant emotions d. apprentice
e. feature
»
C. Choose the proper answer.
\Y. Eyercise znd vweight......can help lower your blood pressure and help you feel more energetic. (5,2,4Y).
a. pace b. task c. loss d. choice
\f. Each school’s central...........should be to teach reading, writing, and arithmetic. {5,2,aY)
a. mission b. occasion c. expression d. permission
\A. Schools should....... more time to those scientific subjects which are more useful in job market . (S,H,4Y)
a. link b. devote c. involve d. express
\¥. We have to ......... all the money we have collected to their bank in London. (S, Z, AQ)
a. stretch b. attach c. involve d. transfer
. o . i
D. Use so that, although , in order to and since in the following sentences.
Yo e the internet provides many services, it has its own problems, too.
VA.Space exploration is the use of space travel .....cunneneee. discover the universe beyond the Earth.
14. Nora got her mother's wedding dress shortened ....cooeeeeeenees it could fit perfectly.
Y.. Aliis saving all the money he gets ............. he wants to buy a new bike .
I

E. Write the correct form of the verbs in the Q_a_renthesés.

¥Y). Marry didn’t help her mother with the dishes. | think she............. have ... her. (help )
YY. Irang the bell several times, but they didn’t open the door. They must ...... ........ out. { go)

TY. Our math teacher made us .......cc..... the homework again. (do)




vE. A smile lets your audience ... that you are human and trustworthy. { know)
F. Choose the proper item.
YA. A: Did Sara pass the exam?
B: The €ar ...c.oeues just on the corner of the street belongs to the richest man in the town. (5,Z,4Y)
a. parked b. parking c. which parks d. has parked
v$. 1don’t think | am really c.occeees for a hard job like that. (S,E,AY)
a. experienced enough b. so experienced ¢. such experienced d. too experienced
YY. My bag had disappeared. It ...cccnenn. stolen by someone. (S,H,2Y)
a. should be b. must be ¢. should have been d. must have been
Y A. Helen borrowed my dictionary ............ look up the meaning of the new word.
a.asto b. so that c. to d. while
| . we urtugicu e sichets early wccinenisernnane we could get good seats.
a. so that b. but c. although d.in order to
.. The kid ate a large plate of food for lunch,....ccceueeee her sister just ate a snack. (S,E,AY)
a. since b. whereas c. whether d. so that
. If she needs money, let her o it herself.
a. earns b.to earn c. earn d. earning
Y'Y. Factories ....c.cisss fossil fuels help increase pollution.
a. which burning b. burnt c. burn d. burning

“1°G. Match the items in column A with the items in B . There is one extra item in B.

A B
Y¥Y. Smoking is dangerous a. helping the people of India.
v'f. Ssome children work under dangerous conditions b. because it causes heart attacks.
¥ 0. Mother Teresa spent all her life c. such as coal mines and brick factories.
v'$. Some materials needed to build and run the base d. could come from the moon itself.

e. like moon or any artificial object

H. Read the sentences carefully ands choose the best item.

Y. Child Labor means when young people , under 13, but sometimes as young as O or ¢ are forced to work

because their parents cannot work or don’t make enough money at their jobs to supper their family.

Which of the following items is not mentioned in the paragraph ?

a. Children have to work because their parents are not able to work.
b. Parents don’t earn enough money to support their children.
c. Children are responsibie for the problems of society.

d. Financial problems of the family force the children to work.




fY. a) opinipns b) politics c) projections d) conditions

fY. a) term b) détail c) degree d) average
F¥. a) flexible b) available c) reasonable d) responsible
¥4. a)directed b) remembered c) regarded d) measured
f#. a) greatly ' b) briefly c) certainly d) suddenly

J. Read the passages and answer the questions.

_An advertisement is a message carried in one of the various forms of “media” such as newspapers and magazines,

radio and television, and the posters and neon signs that we see in the street. The purpose of most advertisements is

to persuade a particular audience to buy the products or service offered by the advertiser.

There are, of course, many advertisements with a different purpose. Some advertisements are simply informative.

The “small ads” columns in the local newsp’apers, for example, may contain notices of items for sell. They include a

simple description of the item, but do not normally try to use the techniques of persuasive advertising. Other

advertisements may try to promote a cause or anidea. You have probably seen posters carrying messages such as

“Stop the whaling” or “ say No to strangers”. Sometimes the advertiser is the customer rather than the seller: in the

al and local newspapers, employers advertise for the services of employees. But most

“jobs vacant” columns of nation

advertising is concerned with persuading people to buy. (5,2,4-)

fv. What is the first paragraph mainly concerned with?

a) Advertisement and its function
b) the reasons why people advertise their products

¢) the role of media in the form advertisements take

d) the differences between various kinds of advertisement

£A. The basis of classification of advertisements in paragraph Y is Their vevervnnne

a) producer b) purpose ¢) form and message d) offered-for-sale item
4. The word “ they” in line & refers to........
a) columns b) newspapers c) advertisements d) notice

a-. itis Not true that...........

a) the advertiser may not be seller at times
b) there are advertisements that follow a social goal.

c) all advertisements are intended to encourage people to buy

d) advertisers always have message although the forms they use to present it are not always the same.

&Y. The passage is primarily written to............

a) correct a social mistake b) make people aware of advertisers’ tricks

¢) offer new ways of doing the same thing d) give information about an activity

The exact center of Europe is not one of Europe’s great cities such as Paris or Milan. It is a very different sort

of place. The arrival of several new states in EU, which this time included Sweden, Finland, and Austria,

means that the exact center of Europe has moved yet again. The place which now holds this honor is the




Y A. Itis hard to attach a fax into another document or to pass it on to someone else. Faxes of faxes of faxes

become unreadable, but e-mail stays readable ,no matter how many times it is forwarded.
These sentences tell us that ................ .
a. If you forward an e-mail many times, it stays quite readable.
b. Forwarding an e-mail to someone else takes a long time.
¢. Attaching a fax into another document is impossible.

d. All faxes are unreadable.

4. The suffering and poverty that Mother Teresa observed outside the convent walls made a deep impression

on her.
The sentence means that MOther TEresa ...cc.cesseseeeesiense
a. made a deep impression which caused suffering and poverty.
b. experienced the suffering and poverty in her family.
c. tried to go out of the convent walls.
d. was deeply influenced by the poverty of the people.

¥.. The web is actually one special area of the Internet. Other areas include newsgroups, mailing lists, and chat.

We understand from the sentences that:
a. The Internet is much big‘ger-and wider than the ng.
b. The web and the Internet are exactly the same.
c. the Web is bigger and wider than the internet.
d. The Internet is nothing but the web.
ess even today.

f). Edison’s memory will live on because of the large number of his inventions and their usefuin

We understand from the sentence that:
a. some of the Edison’s inventions are still useless today.
b. Edison had a good memory.
¢. We will remember Edison for his inventions.

d. Edison could remember a large amount of useful information.

or

I. Cloze test. Choose the best items. (S,Z,4av)

To be in employment means to have a job, to have work. The type of work, the hours and...(¥Y).., vary across the

World from country to country, from organization to organization, from business to business. Full employment is

an economic ..{f¥')...meaning all the ...(ff)....workforcé of a country is occupied in work. This is nowadays
().

as an impossible position to reach for various reasons. Being employed usually means working for an employer,

but this can vary..(f#)...from job to job, country to country.

for a period of A hours per day, Monday to Friday,




quiet Belgian distract of Viroinval. Viroinval, which is located between Paris and Brussels, is a country area
that contains a group of eight villages.

The geographical center has moved FYY kilometers north from the French town of Saint-Clement, where it

lay in the years after the last great expansion of the comm‘unity. “It is like winning the big prize without
knowing you have bought a ticket,” says Jean-Marc Delizee, who presents the area in Parliament. Delizee,
whose other job is to run the local tourist associafion, goes on. “ It has been a real gift. This is a region that
has lost all its industry and whose people have to go too far-away towns to get jobs. But it is a beautiful area
_ an area where tourism has a real chance to bring new economic life.”

Christophe Dutailly, who runs a local restaurant, agrees but says, “We’ve got to act now.” The new states

that will join the EU will move the geographical center again and our moment of fame will be gone.” (S, H,aY)

a¥. According to the passage, the new center of the Europe is NOW....cccc...ee

a. in the border of the Europe b. the great city of Paris

c. a European bigcity d. the Belgian district of Viroinval
AY. We understand from the passage that the center of the EU......... .

a. is a very different place from great cities. b. used to be a developed region.
c. is not likely to move again d. has not changed yet.

A¥. Which sentence is NOT correct according to the passage?

a. Saint-Clement is a town jocated in France. b. Viroinval is a rural beautiful area.

c. Viroinval is fYY kilometers far from France. d.Delizeeisa representative of the parfiament of Viroinval.
Aa. The writer states that the center of the EU changed.....ccecevesennes .

a. after a few countries joined the EU b. when Delizee offered a new plan to the EU

c. to accept Belgiumas a member of the EU  d. in order to bring a new economic life to a European country

A%. What is the best title for this passage? (added to S,H,4Y)

a. the great cities of the EU b. the geographic center of the EU

c. European countries d. The EU and economic problems
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